Tableaux des Puissances de Dix (G)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (G) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,01 0,1 0,0001 0,001
64 0,64 6,4 0,0064 0,064
45 0,45 4,5 0,0045 0,045
25 0,25 2,5 0,0025 0,025
17 0,17 1,7 0,0017 0,017
94 0,94 9,4 0,0094 0,094
X 0,0001 0,01 0,001 0,1
29 0,0029 0,29 0,029 2,9
15 0,0015 0,15 0,015 1,5
13 0,0013 0,13 0,013 1,3
99 0,0099 0,99 0,099 9,9
84 0,0084 0,84 0,084 8,4
X 0,0001 0,1 0,001 0,01
1 0,0001 0,1 0,001 0,01
47 0,0047 4,7 0,047 0,47
15 0,0015 1,5 0,015 0,15
100 0,01 10 0,1 1
99 0,0099 9,9 0,099 0,99
X 0,0001 0,01 0,1 0,001
53 0,0053 0,53 5,3 0,053
71 0,0071 0,71 7,1 0,071
41 0,0041 0,41 4,1 0,041
91 0,0091 0,91 9,1 0,091
72 0,0072 0,72 7,2 0,072
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